
 

 

Figure S1. Concentration-effect plots for: A. Leaf extract; B. Flower extract; C. Acarbose; D. 
Binary mixture leaf extract-acarbose; E. Binary mixture flower extract-acarbose. Since the 
concentration of acarbose is three orders of magnitude lower than that of extracts, only the 
concentration of extract is shown. 

y = 18.873ln(x) + 38.273
R² = 0.9902

0

20

40

60

80

100

0 5 10 15 20

%
 in

hi
bi

tio
n

Concentration, mg/mL

y = 17.413ln(x) + 42.466
R² = 0.9675

0

20

40

60

80

100

0 5 10 15 20

%
 in

hi
bi

tio
n

Concentration, mg/mL

y = 29.408ln(x) - 6.8664
R² = 0.9083

0

20

40

60

80

100

120

0 20 40 60

%
 in

hi
bi

tio
n

Concentration, μg/L

y = 33.022ln(x) + 45.434
R² = 0.903

0

20

40

60

80

100

0 2 4 6
%

 in
hi

bi
tio

n

Binary mixture BBL/Ac, mg/mL

y = 34.834ln(x) + 48.815
R² = 0.9071

0

20

40

60

80

100

0 2 4 6

%
 in

hi
bi

tio
n

Binary mixture BBF/Ac, mg/mL

A B 

C D

E 


